
 

   
VDI Toolcatalog  
for PU520 | PU720 



2 
 

    
 

 
D01-D02  

Position A 
WSP Insert R=0,4 inside/outside 
Position B 
Toolholder inside/outside 
Position C 
Torx screw 
Position D 
VDI 20x20 Toolholder – PU520 
 Position D 
VDI 30x20 Toolholder – PU720  
 
 
 
 

PU500PUWSP110304 
 
PU50020040125 
 
PU50035M25T08 
 
PU50020064220 
 
PU50020062044  
 

 
D82  

Position A 
WSP Insert R=0,4 inside 
Position B 
WSP Insert R=0,2mm inside 
Positon C 
Toolholder inside 16mm 
Position D 
VDI 20x12 Toolholder – PU520 
Position D 
VDI 30x12 Toolholder – PU720 

PU50020018205 
 
PU50020018204 
 
PU50020048233 
 
PU50020064212 
 
PU50020061242 
 

A 
D 

C 

A,B 

C 
D 

B 

Detail  
Position A 

Detail  
Position A 



3 
 

    
 

 
D72  

Position A 
Drillrod left Ø 5mm 
Position B 
Drillrod shaft 20/5mm 
Position C 
Screw DIN 915 M4x5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 

PU50020027220 
 
PU50020037225 
 
PU50035M04X05 
 
PU50020064220 
 
PU50020062044  
 

D73  

Position A 
Drillrod left Ø 3mm 
Position B 
Drillrod shaft 20/5mm 
Position C 
Screw DIN 915 M4x5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 

PU50020027221SET 
 
PU50020037225 
 
PU50035M04X05 
 
PU50020064220 
 
PU50020062044  
 

A 
B 

C 

D 

A B 

C 

D 

Detail  
Position A 

Detail  
Position A 



4 
 

    
 

 
D15-16-17-18 

 
 

Position A 
VHM T-knife 
Position B 
Toolholder for VHM tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part  
 
 

PU50020021511  
 
PU50020041528  
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

 
D34-35  

Position A 
VHM O-Ring knife small 
Positon B 
Toolholder for VHM tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 
 

PU50020023418 
 
PU50020041528 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

A 
D 

E 

A B D 

C 

B 

E C 

Detail  
Position A 

Detail  
Position A 



5 
 

    
 

 
D36-37  

Position A 
VHM O-Ring knife large 
Position B 
Toolholder for VHM tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 
 
 

PU50020023619 
 
PU50020041528 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

 
D9-10  

Position A 
VHM A11 tool V3 (L=38mm) 
Position B 
Toolholder for VHM tools 
Position C 
Clamp screw 
Posizion D 
VDI 20x20 Toolholder – PU520  
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 

PU50020020911 
 
PU50020041528 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

A 
B 

D 

E C 

C E 

D 

A 

B 

Detail  
Position A 

Detail  
Position A 



6 
 

    
 

 
D32 

 
 

Position A 
Insert for cut off chipless short L=49mm 
Position B 
Knifeholder swivel for outside cut-off 
Position C 
VDI 20 Crossholder – PU520 
Position C 
VDI 30 Crossholder – PU720 
 
 
 
 
 
 

PU50020023217 
 
PU50020043232 
 
PU50020064225 
 
PU50020062946  
 

 
D20-21 

  

 
Position A 
CHV Knife L=40mm 
Position B 
Knifeholder for V packing 2 knives 
Position C 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 

 
PU50020022115 
 
PU50020041929 
 
PU50020064220 
 
PU50020062044  
 
 

C 

B 
A 

B 

C 

A 

Detail  
Position A 

A 

Detail  
Position A 



7 
 

    
 

 
D30 

  

Position A 
Insert for cut off chipless l=58mm 
Position A 
Insert for cut off chipless l=73mm 
Position B 
Toolholder swivel for inside cut 
Position C 
VDI 20x20 Toolholder – PU520 
Position C 
 VDI 30x20 Toolholder – PU720 
 
 
 
 

PU50020023921 
 
PU50020023921B 
  
PU50020043031 
 
PU50020064220 
 
PU50020062044  
 
 

 
D74  

 
Position A 
CHV Knife L=40mm 
Position B 
Knifeholder CHV 1 knife 
Position C 
VDI 20 Crossholder – PU520 
Position C 
VDI 30 Crossholder – PU720 
 

 
PU50020022115SET 
 
PU50020041931 
 
PU50020064225 
 
PU50020062946  
 

A 

C 

B 

A 

B 

C 

Detail  
Position A 

Detail  
Position A 



8 
 

    
 

 
D62  

Position A 
VHM Cut off 0,9mm 
Position B 
Toolholder cut off tool 0,9mm 
Position C 
Screw M04x16mm 
Position D 
VDI 20 Crossholder – PU520 
Position D 
VDI 30 Crossholder – PU720 
 
 
 
 

PU50020023319 
 
PU50020043334 
 
PU50035M04X16 
 
PU50020064225 
 
PU50020062946  
 

 
D33 

 
 

Position A 
Insert 2mm left 
Position B 
Blade for cut off tool outside  
Position C 
Cut off blade holder outside 
Position D 
VDI 20 Crossholder – PU520 
Position D 
VDI 30 Crossholder – PU720 
 

PU50020019305-L-2 
 
PU50020033323  
 
PU50020043331  
 
PU50020064225 
 
PU50020062946  
 

D 

B 

C 

A 

A 

B 

C 

D 

Detail  
Position A 

Detail  
Position A 



9 
 

    
 

 
 

D31  

Position A 
Insert 2mm right 
Position B 
Blade for cut off tool inside  
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520  
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Cut off blade holder inside 
 
 

PU50020019305-R-2 
 
PU50020033122 
 
PU50035SPSCHR 
 
PU50020064220 
 
PU50020062044  
 
PU50020043131  
 

 
D7  

Position A 
VHM rotary spring knife  
Position B 
Toolholder long for VHM-tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 

PU50020020508 
 
PU50020040526 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

A 

D 
C 

B 

E 

A B 
D 

C E 

Detail  
Position A 

Detail  
Position A 



10 
 

    
 

 
D41 

 
 

 
Position A 
WSP Insert drillrod Ø15mm 
Position B 
Insert drill Ø15mm 
Position C 
VDI 20x20 Toolholder – PU520 
Position C 
VDI 30x20 Toolholder – PU720 
 
 
 
 
 
 

 
PU50020019708 
 
PU50020049736 
 
PU50020064220 
 
PU50020062044  
 
 

 
D11  

Position A 
WSP Insert facing R=0,8mm big 
Position B 
Toolholder WSP facing big VDI 30 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI Toolholder 20x25 – PU520 
Position D 
VDI 30x25 Toolholder – PU720 

PU50020010803 
 
PU50020040826 
 
PU50035M35T15 
 
PU500200642025SIK 
 
PU50020063025SIK 
 

A 

C 

B 

A 

B C 

D 

Detail  
Position A 

Detail  
Position A 



11 
 

    
 

 
D8  

 
Position A 
WSP Insert facing R=0,8mm 
Position B 
Toolholder facing 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 
 

 
PUSJ44070702 
  
PU50020040827 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 
 

 
D38 

 

 
Position A 
WSP Insert facing R=0,4mm 
Position B 
Toolholder facing 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 

 
PU50020020802 
 
PU50020040827 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 
 

D 

B 

B 

D 
A 

Detail  
Position A 

Detail  
Position A 

C 

A 

C 



12 
 

    
 

 
D47  

 
Position A 
WSP Insert OR groove R=0,35mm 
Position B 
Toolholder facing 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 
 

 
PU50020012503 
 
PU50020040827 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 
 

 
D28  

 
Position A 
WSP Insert OR groove R=0,75mm 
Position B 
Toolholder facing 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 

 
PUSJ44070703 
 
PU50020040827 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 
 

A 

B 

D 

A 

B 

D 

Detail  
Position A 

Detail  
Position A 

C 

C 



13 
 

    
 

 
D48 

  

 
Position A 
WSP Insert OR groove R=1,00mm 
Position B 
Toolholder facing 
Position C 
Torxscrew T15 M3,5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 
 
 

 
PUSJ44070704 
 
PU50020040827 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 
 

 
D50 

 

Position A 
WSP Insert OR knife R=1,0mm 
Position B 
Toolholder long for VHM-tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 

PU50020093009 
 
PU50020040526 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

A 

B 

D 

C 

B A 
D 

E 

Detail  
Position A 

Detail  
Position A 

C 



14 
 

    
 

 
D51  

Position A 
WSP Insert OR knife R=1,5 mm 
Position B 
Toolholder long for VHM-tools 
Position C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 
 
 

PU50020093006 
 
PU50020040526 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

 
D52 

 
 

Position A 
WSP Insert OR knife R=2,5mm 
Position B 
Toolholder long for VHM-tools 
Positon C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 

PU50020093005 
 
PU50020040526 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

A B 

C 

D 

E 

A B 

C E 

D 

Detail  
Position A 

Detail  
Position A 



15 
 

    
 

 
D6  

Position A 
Drillrod 4,1 mm - WEDI knife right V2 
Position B 
Drillrod shaft 20/5mm 
Position C 
Screw DIN 915 M4x5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 

PU50020027222 
 
PU50020037225 
 
PU50035M04X05 
 
PU50020064220 
 
PU50020062044  
 
 

 
D80  

Position A 
WSP Insert 3mm 
Position B 
Drillrod for backring left 3mm 
Position C 
Clamping screw M4x14/T-15 
Position D 
VDI Toolholder 20x25 – PU520 
Position D 
VDI 30x25 Toolholder – PU720 

PU500200110030 
 
PU50020047252L 
 
PU500235M04X14T15 
 
PU500200642025SIK 
 
PU50020063025SIK 
 

A 

C 

B 
D 

A 

D 

B 
C 

Detail  
Position A 

Detail  
Position A 



16 
 

    
 

 
D81  

Position A 
WSP Insert 4mm 
Positon B 
Drillrod for backring left 4mm 
Position C 
Clamping screw M4x14/T-15 
Position D 
VDI Toolholder 20x25 – PU520 
Position D 
VDI 30x25 Toolholder – PU720 
 
 
 
 

PU500200110040SET 
 
PU50020047253L 
 
PU500235M04X14T15 
 
PU500200642025SIK 
 
PU50020063025SIK 
 

 
D84  

Position A 
WSP Insert 3mm 
Position B 
Drillrod for backring right 3mm 
Position C 
Clamping screw M4x14/T-15 
Position D 
VDI Toolholder 20x25 – PU520 
Position D 
VDI 30x25 Toolholder – PU720 

PU500200110030 
 
PU50020047252R 
 
PU500235M04X14T15 
 
PU500200642025SIK 
 
PU50020063025SIK 
 

A 

D 

B C 

B 
D 

A C 

Detail  
Position A 

Detail  
Position A 



17 
 

    
 

 
D85  

Position A 
WSP Insert 4mm 
Position B 
Drillrod for backring right 4mm 
Position C 
Clamping screw M4x14/T-15 
Position D 
VDI Toolholder 20x25 – PU520 
Position D 
VDI 30x25 Toolholder – PU720 
 
 
 
 

PU500200110040 
 
PU50020047253R 
 
PU500235M04X14T15 
 
PU500200642025SIK 
 
PU50020063025SIK 
 

 
D68 

 

Position A 
WSP Insert OR groove R=0,35mm 
Position B 
Toolholder facing tool left 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 

PU50020012503 
 
PU50020040828 
  
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

A C 

D 
B 

A 

B 

D 
C 

Detail  
Position A 

Detail  
Position A 



18 
 

    
 

 
D75  

Position A 
WSP 125 OR groove R 0,75mm 
Position B 
Toolholder facing tool left 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 

PUSJ44070703 
 
PU50020040828 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

 
D76  

Position A 
WSP 125 OR groove R 1,00mm 
Position B 
Toolholder facing tool left 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 

PUSJ44070704 
 
PU50020040828 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

A 

B 

C 
D 

A 

D 
C 

B 

Detail  
Position A 

Detail  
Position A 



19 
 

    
 

 
D69  

Position A 
WSP Insert OR groove R=0,35mm 
Position B 
Toolholder facing tool right 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 

PU50020012503 
 
PU50020040829 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

 
D77  

Position A 
WSP 125 OR groove R=0,75mm 
Position B 
Toolholder facing tool right 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
DI 30x20 Toolholder – PU720 

PUSJ44070703 
 
PU50020040829 
  
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

D 

B 
C 

A 

D 
B 

C 

A 

Detail  
Position A 

Detail  
Position A 



20 
 

    
 

 
D78  

Position A 
WSP 128 Insert OR groove R=1,0mm 
Position B 
Toolholder facing tool right 90° 
Position C 
Torx screw T15 M3.5mm 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
 
 
 
 

PUSJ44070704 
 
PU50020040829 
 
PU50035M35T15 
 
PU50020064220 
 
PU50020062044  
 

 
D89  

Position A 
Quadringknife 
Position B 
Toolholder long for VHM-tools 
Positon C 
Clamp screw 
Position D 
VDI 20x20 Toolholder – PU520 
Position D 
VDI 30x20 Toolholder – PU720 
Position E 
Clamp part 

PU50020022118 
 
PU50020040526 
 
PU50035SPSCHR  
 
PU50020064220 
 
PU50020062044  
 
PU50035SPANNKL 
 

 
Only on request: Machine parts and special tools 

A 

C B 

D 

A B 

C 

D 

E 

Detail  
Position A 

Detail  
Position A 



21 
 

    
 

 
 
 

 
Type : Meander spring 3.10 x 0.08 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H3531008 
 

 

 
Type : Meander spring 4.30 x 0.10 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H3543010 
 

 

Type : Meander spring 6.35 x 0.15 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H35635015 
 

 

Type : Meander spring 9.80 x 0.18 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H35980018 
 

 



22 
 

    
 

 

  

 
 
 

Type: Meander spring 14.1 x 0.22 
Material: 1.4310 
Norm: DIN 17.224 
Int. Norm: AISI 301 
Chem. Analyse: X12CrNi77 
PU1TEC code: 0992H35141022 
 

 

Type : Meander spring 19.0 x 0.25 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H35190025 
 

 

Type : Meander spring 27.5 x 0.30 
Material : 1.4310 
Norm : DIN 17.224 
Int. Norm : AISI 301 
Chem. Analyse : X12CrNi77 
PU1TEC code : 0992H35275030 
 

 

 



23 
 

    
 

 

Winding springs  Material Code 

OD [mm] B [mm] S [mm]   

2,5 0,5 0,08 1.4310 0991H025SWF 

3,2 0,6 0,12 1.4310 0991H032SWF 

4,0 1,2 0,12 1.4310 0991H004SWF 

4,5 1,2 0,15 1.4310 0991H045SWF 

5,0 2,0 0,15 1.4310 0991H050SWF 

6,0 3,0 0,15 1.4310 0991H060SWF 

7,9 3,5 0,25 1.4310 0991H079SWF 

9,6 3,6 0,30 1.4310 0991H096SWF 

11,7 4,0 0,40 1.4310 0991H117SWF 

15,0 4,0 0,40 1.4310 0991H015SWF 

17,0 4,0 0,50 1.4310 0991H017SWF 



24 
 

    
 

Simmering springs and spring locks Ø[mm] wire[mm] description unit 

0993H35S16031 1,6 0,30 Spring 1000mm 

0993H35S22041 2,2 0,40 Spring 1000mm 

0993H35S40051 4,0 0,50 Spring 1000mm 

0993H35S50065 5,0 0,65 Spring 1000mm 

0993H35S16031/2 1,1 0,20 Spring lock 1000mm 

0993H35S22041/2 1,5 0,40 Spring lock 1000mm 

0993H35S40051/2 3,1 0,50 Spring lock 1000mm 

0993H35S50065/2 4,0 0,50 Spring lock 1000mm 

 

  



25 
 

    
 

 

 
 
 

Contact PU1TEC Dichtungen und Kunststoffe GmbH 

 Primoschgasse 2 

 9020 Klagenfurt am Wörthersee 

 AUSTRIA 

 +43 (0)463 33 96 96 

 materials@pu1tec.com 

 www.pu1tec.com 
 

 

© PU1TEC 2024 – errors and changes reserved 

mailto:materials@pu1tec.com

